_ SC-271
Seat
No. Total No. of Pages : 3
M.C.A. (PART - II) (Semester - I1I) (CBCS)
Examination, December-2024
JAVA PROGRAMMING
Sub. Code : 83603
Day and Date : Monday, 16/12/2024 Total Marks : 70
¢ Time : 10:30 a.m. to 01:30 p.m. . -
Instructions : 1) Q.1 and Q.7 are 8:6583«
2) Attempt any three Gv fuestions :.Ss O N to Q.6
3)  Figures to right :E_G: E_____ Em..rw.
[08]

Q1) Multiple Choice O:mmzci.
1) Which of these ma_nima:m 58?00%
A) méQ Qmmm B:,ﬁ 8:85 a EM::O method

B) daao can co oiv\ one main() method in a program

Q ,HEE:C Bo%og E:mﬁ be made public
C Uv All om;anmm .
2) E:mwrozéoa in java is used with
A) class B) data members
C) methods D) All of these

3)  Which of the following operators is used to generate instance of an
exception which can be thrown using throw?
A) thrown B) alloc
C) malloc D) new

4)  Which of these class is used to read characters in a file?

A) FileReader - B) FileWriter

C) FilterReader D) InputStreamReader

P.T.O.



3)

6)

7

8)

Q2) A)
B)

Q3) A)
B)

SC-271

Which of these is a super class of wrappers Long, Character and Integer?
A). Long B) Digits

C) Float D) Number

Which of these method wakes up the first thread that called wait()?

A)  wake() B) notify()

C) start() D) call()

Which package provides many event classes and Listener interfaces for

event handling?

A) java.awt B) _.mxm.mﬁﬁ,.mauznm
C) java.awt.event D) Zm,:m oh_ﬁ.mnmm._
How to create object of the inner o_.,_mm.V YA

A) OuterClass. F:EQ%E::QOEOQ = oEQOEoQ newlnnerClass();

B) OuterClass. F:QQ%E::SOE@Q =Tnew ?:Qm_mmwo
O H::oaﬂ_mmm_::QOEoS = oEQOEaQ :mi:sﬁﬂ_%mo

D)  OuterClass.InnerClass = outerObject.newInnerClass();

What _wm,u/\ZiQn.s:@ the role of JVM in java program exccution.

Explain the diffcrent types of operators available in java

What is abstract class? Explain the role of abstract class in java.

Ilustrate all the conditional statements in java with suitable example.

Q4) Whatis vector? Explain implementation of vector and different operations

performed on it.

Q5) A)
B)

What is exception? How to handle exceptions in java.

What 1s Multi-threading? Explain thread synchronization with

suitable example.

[7]
[7]

(7]
[7]

[14]

[7]
[7]

e
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Q6) A) Differentiate between StringBuffer and StringBuilder class.

... B)  Whatis java swing? Explain component hierarchy in java swing.

Q7) Write short notes. (Any four)
1)  Features of java
2) Nested class
3) Time class in java
4)  Socket

5)  Thread priorities

SC-271

(7]
[7]

[20]
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Seat Total No. of Pages : 3
No.
M.C.A. (Part - II) (Semester - 11I)
Examination, December-2024
Data Analytics
Sub. Code : 83604
Day and Date : Tuesday, 17/12/2024 i _,_.,i_u_,zm_.rm : 70
Time : 10:30 a.m. to 01:30 p.m. S g
Instructions : 1) Q.No.1and Q. No. 7 are nqiw:_m,\c@. : ;
2) Attempt any three ntam:cm,m ?wi..p Zowu to Q. No. 6.
Q1) Choose correct alternatives for a.__c_i_?nn:w,m:o:m from options [8]

given below. _

1) Data .\ws&v\mmm isa ?onwm.w..“._m_,_o_%_
A) _:mvmo:wm data _, ' B) Cleaning data
O jm:mwo.w_?mdm.dma D) All of these

2)  Whatis the oﬂ.,:v_E, of m..ﬁ._rm _.wo:o(s:m code?
& import numpy as np
"a=np.arange(10)

print(a(2:5])

A) [2,3,4] B) [0, 1,2]
C) [5,6,7 D) [2, 4, 6]

3)  Whatis the output of the following code?
import numpy as np
a = np.array([1; 2, 3])
b = np.array([4, 5, 6])

c=atb

print(c)

A) [1,2,3,4,5,6] B) I([1,4],12, 5], [3, 6]]
C) [5,7,9] D) Error

1 P.T.O.



4)

3)

6)

7)

8)

Q2) A)
B)

Q3) A)
B)

SC-273

Which of the following thing can be data in Pandas?
A) apython dict B) an ndarray

C) ascalar value D) All of these

What will be the output of following code?

import pandas as pnd
pnd.Series([1,2], index=[‘a’,’b’,’¢c’])

A) Syntax Error B) Index Error .
C) Value Error D) None of these.

Amongst which of the following can be used to create various inputs

using pandas DataFrame.

A) Lists, dict

B) Series e :
€) Numpy ndarrays and >:o&mﬂ_ Umﬂmm&,&,m
D) All of these - b
Which is the correct command to instal] Matplotlib?

A) pip install matplotlib

B) pip install matplotlib.pz

C) pip install am&_%ﬁ%

D)  Allof these "8

During the execution of the following code, what will be the response, we

get - import pandas as pd
s=pd.Series([1,2,3,4,5],index= [*a’,’b’'c’,*d" ‘e’])

print(s[‘f*])

A) KeyError B) IndexError

C) ValueError D} None of these

What is Data Analysis? Explain the different types of data analysis. [7]
Describe different applications of data analysis. (7]
What is ndarray? Explain dimensions in Arrays with an example. (7]
Explain pseudo-random number generation in Numpy. (7]

2

i 2
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Q4) Write a NumPy program to create array of 100 elements and find the most [14]

frequent value in an array. Also draw a line graph of array.

Q5) A) Explain file input and output of array with appropriate example. [7]
B)  Describe different characteristics of data analysis. [7]

Q6) A) Explain data structures in Pandas. 171
B) Describe string manipulations in Pandas DataFrame. [7]

20]

Q7) Write short notes on any four.
})  Web Scraping
2)  Handling Missing Data
3) plot() method
4)  Universal Functions 3

5) Reading Em._mxom_ file in wmuamm j
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Seat Total No. of Pages : 3
No.

MCA (Part -II) (Semester - I1T)
Examination, December-2024
Cyber Security
Sub. Code : 83605
Day and Date : Wednesday, 18/12/2024 ; Total Marks : 70

Time : 10:30 a.m. to 01:30 p.m.

©
Instructions : 1) Que. No 1 and Que. Zc._q are 8:.6:_3?..
2) Attempt any three v@‘mamhc:m from Q. .Z_o._N to Q. No. 6.
Q1) Multiple O—_omnm O:m&,—o:m.... [8]
1)  Anattempt to rm:.B awémmm or omﬁmm threat to a system or network is
broadly 835@ as. L
_3 Ov&mToBBo B) Cyber Attack
-0 mu\m:ﬂb wcm&cmm D) Digital crime
2) ,/5;: is :m:_..m.mozsoa using cipher algorithms? @
A) Scalar text B) Complex text
C) Plain text D) None of these
3)  State whether True or False : Data encryption is primarily used to ensure
confidentiality.
A) True B) False
C) Cannot be Interpreted D) None of these

4)  In which category does the lack access control policy fall ?
A) Threats B) Bugs
C) Attack D) Vulnerability

1 P.T.O.



5)

6)

7)

8)

Q2) A)
B)

In cryptography, what is cipher?

A) algorithm for performing encryption and decryption

B) encrypted message

C) both A) and B)

D) None of these

What is Cyber Security ?

A) Cyber Security provides security against malware

B) Cyber Security provides security mmmEmm n.xdma-.ﬁaﬁolma

C) Cyber Security protects a system @oito.uv.&nﬂ.mﬂméwm

D) All of these

Which of the following is oosmmaﬂm@.mﬂ,n_oaoﬁ of o«mmn security ?

A) Network Security .

B) Operational mmo_cm@m
C) >vv:om:ma mmomiq w
D) Allof Emm@ J

Which one of Em“._mo_:o_éam_ is a type of antivirus program ?
A) : O_Eow heal 1

B) ZoS@oo_ _.

O Wmmﬁoam@

D) All of these

Define Cyber Security. Explain the need of cyber security.

Define vulnerability. Explain Cyber Security Vulnerabilities.

Q3) What is Encryption? Explain Key elements of encryption systems.

Q4) What is cloud security? Explain How to manage security in the cloud.

2

SC-273

[7]
[7]

[14]

[14]



Q5) A) Explain Secure Hypertext Transfer Protocol.

B) Explain the different types of firewall in detail.

Q6) Explain Information Technology Act 2000 in detail.

Q7) Write Short Notes on (Any four)

A)
B)
&)
D)
E)

National Cyber Security Policy

Legal issues of Cyber security in India
Distinguish between IDS and IPS
Honeynets

Difference between HTTP and HTTPS

SC-273

[7]
(7]

[14]

[20]
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